$QZipFail = False;
QZipy 1ist@E[L_, Q_, P_] :=
PPqozip@Module[{¢, z, zs, c, ys, ns, qt, zrule, grule, out},
zs = Table[Z*, {&, &5}];
c=CF[Q /. Alternativesee (s |Jzs) » 0];
ys = CF@Table[d: (Q /. Alternatives @@ zs - 0) ,
{C, £5}];
ns = CF@Table[d, (Q /. Alternativesee ¢s » 0), {z, zs}];
qt = CFeInverseeTable[KS,, -+ - 9,,:0, {E, &5}, {z, z5}];

zrule = Thread[zs » CF[qt. (zs +ys) 1]
Crule = Thread[{s » &5 +ns.qt];
out =

CF /@ E[L, c +ns.qt.ys,
Det[qt] Zips [P /. (zrule{Jgrule)]];

If[

- ($QZipFail v

TrueQ[out = E3@QZip . @E4@E [L, Q, P]]),

$QZipFail = True;

Print["QZip4 fail at {L,Q,P}=", {L, Q, P}]
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